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- qIfoT
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FeTl-12 v saraas HHI- 1 T 30 qUITe-40
g e

AT fAéer:-
O gt v a1

It is mandatory to answer all the questions.

O seaAt A Fe HEAT40 ¢ |

The total number of questions is 40.

0 el g & faw 1 3 AuiRa §

Each question carries 1 mark.

0 9A® 9T F AT OR fAwed fRr e § | 597 @ v 6 Awew 1 gy fifaw
Each question is provided with 4 options. Choose the correct option.

0 Irerd 3R & fAT RIS 3w 7€ F1E ATGAN |

There will be no negative marking for any wrong answer.

1. gyaer ¢ -
Management is -
a) e (Art)
b) faae (Science)
c) e IR AR gAY (Art and science both)
d) saH @ :$ A8 ( None of these)

2. fFdY off g & Rew & ga@ 3WF raegsar § -

The foremost need for the development of a country is of -
a) #ifas wHEUT Y (Physical resources)
b) 3nfdF FHETYT Fr (Economic resources)
c) PUAA gaer $Y (Efficient management)

d) SH @ :E AG (None of these)
3. 8 ¥ @ RE aw yawr & Rqwia -

Principles of management given by Henry Fayol are -
a) 5
b) 10
c) 12
d) 14

4. Sfsl 3Re N & ITAER vaw & FH § -
According to George R. Terry the functions of Management are -

a) 4
b) 2
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c)
d)

6
5

5. [T T FT TOT &

Planning is the step of Management.

qgell (First)
qaU (Second)
R’ (Third)
A (Last)

6. IRT H e g-

a)
b)
c)
d)

Management in India is-

ATaFh(Necessary)
eATaIHR(Unnecessary)
Rrenf@ar(Luxury)

IH ¥ RIS AEI(None of these)

7. 3fAF Y9 & ITAF ¢ -

The father of scientific management is -

a)
b)
c)
d)

freray (Gilbreth)
Ugeq (Robertson)
& (Taylor)

Fqe (Fayol)

8. WWURNTA Yo # MRS F AgH & AT § -

a)
b)
c)
d)

Wages given to workers in traditional management are -

gAdHA (Minimum)
sf&Fas (Maximum)
AT (Zero)

gTH & FI$ AE (None of these)

9. fAgfaeior &-

a)
b)
c)
d)

Staffing is-

HISA FT AT (Part of organisation)

FATR 99T FT FA (Function of personnel management)
Y& HT FF (Function of o Management)

g Y (All of these)

10. vy & fAquial it @ i e 8-

a)
b)

The principles of management are formulated-

gARTRTAT & (In laboratory)
YatHl & AT <arr (By Experience of Management)
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c) AEH & AT <arT (By Experience of customers)
d) ST & :E A (None of these)

11. 4T T Fa IR g2
When was scientific management introduced?
a) 1983
b) 1913
c) 1903
d) 1923

12. gHTaATA FRAFR gEATaRoT & AT 3weRca & @y ge wfa amaas §
For effective delegation is essential to be accompanied with responsibility.

a) FSR (authority)

b) WeAfad (promotion)
c) WicHTgsT (incentives)
d) FUEIEROT (transfer)

13. Y& & AR § -
The essence of management is -
a) WIS (Organisation)
b) "H«AT (Co-ordination)
c) fagfFasor (staffing)
d) fa@SeT (Planning)

14. fFraYSTeT gxar § -

Planning is -
a) ¥dHe & fAT (For past)
b) sfasT & faw (For future)
c) adAT & fAT (For present)
d) @it & & (For all)

15. 9&Y ¥ fhde T g &7

How many levels are there in management?
a) 2
b) 3
c) 4
d 5

16. T& ST AT gl §-
A good plan is-
a) @l (expensive)
b) WHI A« Tl (time consuming)
c) arqef( flexible)
d) FI (rigid)

17. F=A1FHIOT &1 a9y grar §-

Centralisation refers to-
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b)
c)
d)

18.

b)

c)
d)

19.

23.

a)
b)

fachr ot & R A FWET @ (Keep powers of decision making with ourselves)

faokr o & IAFRY F1 M@IT FIET (Delegation of authorities in decision-making)
YT &Y o1 Feg AT (Creating division as profit centres)
AX Fegl JYaT AT@I3T FT WAAT (Open new centres or branches)

gl WA FT SA-H FIHT AT-
Henri Fayol was born in-
AT (India)
W (France)
el (China)
FARSFT (America)

A & anfaer &-
Planning involves -
FIAT HIT ¢ (what to do)

%T HIT § (when to do)
$Fq FT & (how to do)
39dFa @Y (all of these)

. ARTIOT fRAT ST HEAT -

Delegation can be done-

TSR FT (of authority)
3uveIffca FT (of responsibility)
SarEcal &1 (of accountability)
3RFd T3t FT (of all of the above)

g faaeor ¢ -
Staffing is-
fergYSter 3T (To plan)
faT=oT FIET (To control)
&R &A1 (To direction)
SgfFdAT Y R 9T T (To appoint the persons)

. dfee ey & fRedwor §-
Analysis in scientific management is-
25%
30%
50%
75%

e ¥ad: fAfda gar
organisation is automatically formed.

sitgaR&(Formal)
J=tgaiR& (Informal)
fasmefir (Divisional)
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d) fRITeHE® (Functional)

24. farafaf@a & ¥ Fla-u1 Wersd WU H@AT FT HTHIOT Tl FIAT §?
Which of the following does not follow the scalar chain?
a) FATCHS NS (Functional organisation)

b) WHTINRT HIST (Divisional structure)
c) 3itgEie WIS (Formal organisation)
d) 3relgaTie WISA (Informal organisation)

25. fFfaf@a & @ Fia Haor F1 dcq 7E &2
Which of the following is not an element of delegation?

a) SarEesl (Accountability)
b) 3fAFR (Authority)

c) 3IRaIAca (Responsibility)
d) FI;ST (Organisation)

26. faFT & & frad AT FRFR &1 gEaTaRor A1 Far s dFHar 82
For which of the following work Authority cannot be delegated?

a) &A% FRF (routine work)

b) MIUART F (secret work)
c) WRYT A (ordinary work)
d) TIT HI (easy work)

27. Afa AuRor =1 ¢ -

Policy determination is a work of-
a) 3T TANT YaEH! HT (High level managers)

b) HET TANT YaEHI FT (Middle level managers)
c) faFT TaT yaeus! 1 (Lower level managers)
d) 3ud @Y &1 (All of these)

28. WIS & Sftaer # o7t gl 8-

Recruitment in the life of organisation is done-
a) T&h & (Once)
b) & R (twice)
c) dar¥® (yearly)
d) fATET (continuous)

29. farAfaf@a & @ wla st A AT a8t 82
Which of the following is not a limitation of planning?

a) amdY gRfeufaat &y srfafadadar (uncertainty of future conditions)

b) 9aTed & &1 37HTT (lack of required flexibility)

c) wTEY fAg=or & W (helpful in effective controlling)

d) wafas fRAsew & gara & Ff&am$ (difficult in the selection of the best alternative)
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31.

a)
b)

d)

32

b)
c)
d)

33

. FHHAREY & e & aFafeq &-
Development of employees involves-

9gledAtd (promotion)
TYTATecROT (transfer)
gf¥&ToT (training)
F @sft (all these)

gHT HRMOT & AT F41 aTE 2
What is necessary for effective delegation?

& @ FRAUT (Facility to contact)

HEANT dYT §HaT T qId1aIor (atmosphere of co-operation and co-ordination )
HTAFRT HT TISE TISAFHIOT (clear explanation of authorities)

¥ Y (all of these)

. AT WS Yo # @iEAfad §-
Human resource management includes-

st (recruitment)
It (selection)
gf¥&ToT (training)
F @sft (all of these)
Y ¥ Rguia 7@t &
Principles of management are not-
gEaslA (universal)
e (flexible)
'\ti'qyi' (absolute)
cgagi& (behavioural)

. gfreqor fr AT T -

Methods of training are-

FIT dgal IIATOT (job rotation training)
FII 9T YIATOT (on-the-job training)
gfragar gfA&Tor (apprenticeship training)
F @sft (all of these)

. FHHATRAT T gfdvaTor §-
Employees training is -
ATaFs (necessary)
3eATa’Ieh (unnecessary)
FfAI (compulsory)

¢ $Y T4 (wastage of money)

et safFa &1 3o INFR & Ig W TAHERT A Fgd 2

Shifting of an employee to a position in which authorities are increased is called
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b)
c)
d)

37

b)
c)
d)

38

39

a)
b)
c)
d)

40.

gele=fa (Promotion)
3geifad (demotion)
fAdereT (direction)

g1 & FIS TS (none)

. ferafFasor T 3E AT Bl

Sta?fing is the responsibility of

ot Tl lJITsf?JI'(Lower level management)
HAEIA TAOT Y9+ (Middle level management)
3T T 99+ (Top level management)

goT THY &1 (All of these)

. &1 3527 -
Objective of development is-

Iqgar # gEfA (increase in capacity)

55 fasqred (better performance)

YeleAfad & IAGET (opportunity of promotion)
¥ Y (all these)

. FUCH TF AR F HTAR WIS AHAT F FEA o |

According to Koontz and O'Donnell, there are

~N o orh~

e ufthar &1 3ifad wea &ia ar 2
Which is the last step of the planning process?

steps in the organisation process.

a) d+feasw ali=wl 1 H\Tvmﬁ &1 (evaluating alternative courses of action)

b) 3eaedr A fAURE &I (determination of objectives)

c) A F F FAASS Sl T YT HIAT (selecting the best courses of action)
d) 3eade (follow up)
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